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for (i in 1:N) {

Y[i]
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y [i.

x[1]
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~ dnorm(x[i], Tau.err) # HETFEBDE

<- qli] * wlil
<- (1 - qlil) * w[i]

logit(qli]) <- a + rel[il
wli] <- exp(log.wl[il)
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logit(qli]l) <- a + reli]

o ZIENUTOLSICHER (w) KEKEET 2R

(b ~ dnorm(0, Tau.noninformative) JBIHWMLETITE)

logit(qlil) <- (
a +b *x (log.w[i] - Mean.log.w) + relil
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“ dnorm(y[i], Tau.err)

<- unit.length[i] * sqrt(rxylil])

Y[i
X[i] ~ dnorm(x[i], Tau.err)
yli
x[1

<- unit.length[i] / sqrt(rxyl[il)

rxy[i] <- exp(log.rxyl[il)
log.rxy[i] ~ dnorm(mean.log.rxyl[il, taulSpcl[il])
mean.log.rxy[i] <- (
bs[1, Spclill
+ bs[2, Spcli]] * (unit.length[i] - Mean.ul)
)
unit.length[i] <- exp(log.unit.length[i])

log.unit.length[i] ~ dnorm(0O, Tau.noninformative)
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Spc[i]
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~ dcat(qli,]) # GIEIERDLLELIESTE
~ dcat(qli,]) # 7—% (IEfE) ~DOHTIE®H

* wll] / total.v[i]
* wl2] / total.v[i]
/ total.v[i]

total.v[i] <- v[i, 1] * w[1] + vI[i, 2] * w[2] + vI[i,
for (s in 1:N.spc) A

v[i, s] <- exp(

-pow(log.rxy[i] - mean.log.rxyli, s], 2) * tauls]

) / sigmals]
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